.\\.
L9

. &
K.CS.E BIGLOGY PQER 23171 2008

SECTION 3;?%0 nsrks)

Answma]lthcquwﬁm%@ thiz seciton in the spaces provided.
®' -
i. Amﬁmmmwgﬁnmﬁmufﬂmhmm {I mak)

< N
\e'. O(O
A
2 .
QO\ Q (a)  MName the paris isbelled X and ¥ {2 marks)
N
N\ b
v
(b)  Suggest why the structures labelled X would be more on one side then the other,
i1 mask)
3. What is the role of the vascular bundles in plant mutrition? (3 marks)
4, What is meant by
(a)  organic evolution {1 mark}

a1
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R\
(b)  contnental driR? 2 (1 mark)

...u........g....u.......-.u""..-..u..@......;......"...”..,..........“,..,,.......,,,...............,.....,.....=....,.,............_..,

O

L LT T R T L T P ] 0?69 L L R R e e T T T I T T T I L el n

5. Towhich class duesén%ﬁml with two body paris and four pairs of legs belong? {1 mark)
R

o'HI'"'l'-'-'laI-ilt#Hil--Hﬂ'Q"h--i--l--r-iu|--n--n-|-n-i+H--n-|-||"|.J+.--ua-liJ|+1..--.-il--.-n..:u-l|...i.-.-n.-.-q|....-.-4..,-...-n-|.".,.-...........".“.,.,g,h....;............_.q,.,..

Q
6. Name tb%m%@:ce which accumulafes in musciss when respiration occurs with insufficient
GK?E%&\ < (i mark)

Q .
Q‘r.:{.\SQ..W..“.M-huu....“..,........1......m.......1,m....,m.......u.......m....................“..m.”........u.,...........,.
s

\(\S&x the imporiance of csmosis o planis, {3 marks)

-

\ \ B e R T T T P

@ \ R R L T L P T e e P R LR T T T PP L B e T B T P PR
\ .
QO \' ----------------------- pEasnmcamEy L LT L T T T L e e e LS

8 Narme thoee facinrs n sesds that dormans 2 5
- - o L £ ¥ 2 - - £
malmadeih e l‘-l---l'"'lI:I'r!I-'|-I-'!'!"ll'i‘li‘i“"l’l""l“‘-illﬁll-'”ll-lb"l!-l"""<¢I~!!-\.l-1!-">J‘l‘:‘ﬂ-li!l-'lll‘--i*irI‘r-+:i-.r---.--|-a.q-.q,.-puq,,---.....q....,q,q,qi...,.._,qg. +

S o T e L T e Pt e g e e i g et s e

e et e e e L L T T o T P g,

9. Why would carbexyhnemogiobin iead to death? {2 marxs}

B e L T T T T T B oy R ——

10.  Name the organism that causes zmoebic dyseniery. : {1 mark)

R L T T T T T T B L T o T
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o
Q\
SECTION B (40 marks) 5

N
‘~Amwerﬂﬂ1eq;esﬁominilﬂszﬁﬂninﬂwspﬁmpmvidad.

11. Thcdiagrambeiuwmpmammapmo@ﬁmﬁbmgc.
>

{3 marks)

Z B e L T T T T [ T I T serpan

Lad

tnarks}

v,

()  How does the part Iabelled Z faciiitate breathing in?

12, Ina garden with plants of same species, 705 plants had red flowers while 224 had whiie
flowers.

{a)  Work out the ratio of red to whife flowered plants {1 mark)

43
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o
Q\
(& (i) Usisglettsr R io represeng fBe dominant gene, work oul & cross between F,
offerming and & white g@em! plart. (4 maris)

W

\ .r.
(1) What is the penotypic ratio Hom the cross in W) above? {1 mari)
\& \ T T T Ll et L L Ll o L T T e T F T L E LT e T T e T Y 1Y
{@ \ {¢y  What iz meant by the torm ellele? {1 mark)
\

\ .
QO 1 N I £ S L N S T R P T T TP PR T PO R T PRI AraiaamaiEsmsranssana remmnaan ¥

3. The diagoarn below shows 2 section taough the marmmalim =kin.

1

(8)  Namethe parts labelied E, Fand G (3 marks)

(b}  Staie two functions in each case of subsiances secreted by the structures labelied

44
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> TS (S TDSL - SRS

P .“,w. L L L L T T P T T PR

Gy I RSRVORSONS. « SRR

2 marks)

Q.

14. Asetupﬂmtmsu%d%vcsﬂgmaceﬁainpmsinplamsisshawninthediawn
below. R

Fe

Leaf shoot

«— Redor stand

{aj  What process was belng investigated? ) {1 mark)

M (i) Siate two precsutions that should be taken when setting up the experiment.
{2 marks)

(ii)  Give a reason for each precaution stated in b(i) above (2 marks)

........................................................................................................................

........................................................................................................................

£
thn
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For

o
A\

S
ey  Srate thrss environmenial t&c?@ﬁhm influence the process under mvestigation.
&

?S\ (2 migriy}

|.|l-l|i-|i!-'r-pq.quq...-:..--"-jr'q,--u-;--@|:trt+jli|..¢}:::q..:..1...1.1..;.._-|p,||-q.'-"par-.\,--aiiﬁu:-i-llil||-I--ui-:I--l-l||<llll-l-l.l+-r+l-ll-:1-!-!l-!ll-l-!"!-lll'

EETEmI T AR AR TR piuiq.{.%r\.q.l.‘q.q.' L e L e LT R e T I TR R L L L LR P L L L L R R R LI LI R R L e

a QQ

-------r----rllQ&‘lbb\!iﬂtI‘-llll‘l‘l‘+l‘+!'!'l-\l"l‘!l--lI‘ll-ll-'l"lll"il'\-7"-'.|‘i"Ll"““‘"“'“l“"|"ll'l“""“"'""'l"'U-"F"FT"'"---"-1ll|“"|"‘""++++="

@ w%%pm by the torms
.\6 OO . P a
Q‘&Q}Q . epimous flower { mﬁffk}

é o S R PR AP A S AP Py PR P PP T R T T T T TP R T PP Y

s Fi | sk
{ii) gtaneingia Aower? .
S T T R T R L e T e L]

(b)  How are the male parts of wind pollinated Howers adapted to their function?
{4 marks)

T T e T T T T T R R LT R R T PR L P A T T T R R Lt e e e P L R R L LR L L Ll L L LRt b
r11.11.r+>='.,‘+r.._.....--u-',-\.‘....1“.ﬁ‘|‘.J'!."...‘.+."+'.|}.lll’l"-‘l'llI'r‘i.ll.f}ifﬁ,l:|r++°iIIl.l"-'\.1"-'.‘{‘¥+,..|+°"‘1...1'-l‘|'°l-
T T T L T T e R L L L e e Lt el ki
d.,,,......,...,1..J|1;.1;...1.g.|||‘H..,.1;..,.-.'p.-.gg-.-rr_-_---.-A.;.Aa--l-l-iuilJiilH‘d-!-u+llril‘-!!i-I4'“!--!'l'-".iii"I!Jflll*ii***JllliIEIH‘llllFlli‘"'!"!-"!"""

: il 2

{8)  Mame two organisms thai cause spoilage. F

e T T e e e e e L e L L L R L Ll L R LR Ll R S LA L R b

R e e P P L P e R L R T PR R L L DL R R L e e R L L L L L E et et il bl i L bl L L el sl

(b)  Name two modem methods of food preservation and for each staie the biological
principie behind it. {4 marks)

R L L L L LT e L L e L Rt Ll LR L]

assean aa . FrrEsman

T T L L T P P PR T

PR L L L L L L L Ll L T e e e L R T L LA AL R P R L L)

P e e e L e L R L R L e e R bl Rl b Ll
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N
o)
Q\
SECTION C (40 marks)
Answer question 17 {compulsoryj and either quemaggb or 19 in the spaces provided after
question 19 2

17.  After an ecological study of feeding @honslupa students constructed the food web below.

TSN

Bh:lé\ (Qeird K Bird L Rird N
Q.@
g |
N\~ \)@mm / Mussels Snails
606‘0 :_\
OON
@ \ pigae Grean plants
Q@{s‘)\ Name the procass through which energy frorn the sun is incorporated into the foodweb.
o Q (! mark)
<< n
(b}  State the mode of feeding of the birds in the food web. {1 mark)
{c}  DMame twe ecosystems in which the organisms in the food web live {2 marks)

(dy  From the informaiion in the food web, construct a food chain with the large bird as a
quariernary consumer (1 mark}

(¢}  What would happen to the organisms in the food web if bird N migrated? (3 marks)

{f) Not ali the energy from one trophic level is available fo the next level. Explain.
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A’\
&«9 (3 marks)
S

um..m..........u.u...."u..ouﬁ}.......m..,....,............“.........".........."...“m,...............“......”......n

O

“"'"‘""‘““'“"‘""'"‘"'""fﬁ'"“""'*"“"lH--Hl""""ﬂun":--u-t-ua----ra----n:-nu--w--uq...uu...--u-...-u.ur---

S
{8) (D Two gshanisms which play e role in the ecosystems are not included in the
f&oﬁveb. Namg them. (2 marks)

O """ B L T T T T T L P T ey e
A 0 A B R B BT B B o s S S R P TR 0w R B R e R

RN
C? O (i)  Staie the role played by the organisms named in g(i) 2bove (1 mark)
R4
e & S — RS A e A

\QJ ty o State three humnan sctivities that would affect the ecosystems {Smarks)

K B L e Ay
o L
Q B T T T S

L

b )

(i)  Explain how the sctivities stated in k(i) above would affect the ecosystems
¢3 marks})

e e L T T R e P
B B Ll e B i S o g BB PR DR B P F AP AT a R BB R TR a B dmmd T dmddd i h
e L L T e e T Ty T T T D T T T e T
-ll-'illll-|.l-+-l-l-lll-li--!'!-i-ili--l.l-l-r-'-p-!:ll-l-'!i\liri L R T T PR D L T T T T Ty
'F'F"'l'“""“'"ll“"‘|l""‘“'"---""P"lll‘ll'li'i“i|lli‘!""l|ll'lll-'r'!'!'!"lllll++-M!ll-li-+.--il--------.r--.-.--q-||-|||.|....11.1.|...|.........-.-........p_.-.--q....

A B S B 0 S 0T o 8 0 0 0 DO i B g s

18.  Describe how gaseous exchange takes place in terrestrial plants. {20 marks}
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19.  How is the human eye adapted to its function?

(20 marks)

S

e dcrrrarapTasasass

msRmE e ERE R

T

B T R TP T T

R LR PR Y EEEaTTERIR bR e s ad pd S BT AR

PR P T P PR

SRR FETERET AR BN AN

mEmsmmaE b

TTETT T

bRErrardRPERELE

B e T T

.

T

. 9
< . -

MEETTITT

B T T T

CEr T T L L L L LT T T P

AR AL R B

rassaany CEE LR LY SRR e

ca

/

e R

AR Em

nEERRAEE PabssmannEE G EEAE ERREAL R R R IR R R

v

FEEddreEy

YT TITLT]

T e L L LR e L]

AdskmmpdErEEREErEY

P LT L LR e T e Ty

B T e T T

PrmgEEsREEcdkg T oRr s pE AR E R

"

P T TR T P T

AR ERT R

FE R L T e T T

CEas R

Sepddaramanad FEIECA NI E RS

emaTERETaETATL R L L T LT ST T T TP e

EE T T T e e Y

AEERELER

e T T T TR L E PR, S e

e

mRErREEs PERAAE

e T T L L T T O

I ARECTRTR NS

EE T P E e T T T P T T

D e R s S T Y

T LTI LTI LT e

&

T T T L L r I T T I T L T L L L R T R e T T P e e e

BATr RAT S R e

FRARAIINREREE G ane ey i

BETENEEORE A RS TR SRR [ELEET CLTEE EETER)

P L LT T T P,

LT P T T P LR

ammuranan

sarpasa B e T T e ]

T T T T TR e

E e

GmmRaEEEn AR

R R

BRI T T R PR T P T

T R T LT L T T T

FOE R IR

EREREEAC AL aanET

T T R P T T T ]

PECTE T T T TR iR EE R T P T T T T PP

ERRAEraREiARREE R P T T T T T R E R PaskEaErirrmiERE R

T T T T T BREEE

LR R et LETTLEEEE T T T T PP T T

T Eee e e

T LI L

(PrTLTy T

ERCEL ARSI EHE B S BD P

EETT LI I T PR EE T

ETTTTTS

wahrEE P T ———
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